= 0.2 _
g F TEIH 5
~0.15F------ F0.15F -1~ IR 5 R R G0 38 L IEERTEELEES
S C L 4|k (5} » :
o Feeee. S O I R AR Y o r.... £ P o U L A A D
© 0.1 T v oL 3
0.05F -+ - 0.05F -+ £ A | ARRR
F AT F :
OF----- % £ | SETEERRPRRRPRLE oF--- i
~0.05f -+ LR O ST ~0.05f----- F
-0.0F----- e -0.1F---
~0.15f -+ ~0.15f++- it
9_02; Q_Ol%; L b " 1 4
S 18k AR SRR A5 7 EERRE U £ ¥ EEEH SR | ERREEEEE
14 1'55 &u Eo TR el 1 b
i3 E 177
0.5F-----F o5k FHEHTE -
E C: +t

=
OO
iN

1 10 0 . 10° 10 1 10 0 . 10°
TP, (PCA t% beamling TP, (PCA t% beamline
[—=— DQM original_StepZ_Tbar-phasel-Newgeom

—e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom

—— DQM_pixelCPETemplateCutChiSquarel5_step2_tt ar-ﬂhasel-newgeom
—+— DOM_pixelCPETemplateCutChiSquare5_step2_ttbar-phasel-newgeom_test

— 100

=
o
o

0
0—1

1 1

£ £

= =

V=10 bl & s AR R R o ek o A A r

2 F J{0| SeEREEE EEPERERFRREREY Bl FEPLEE § ¥ CPE- EEEPEPEPERS

=] I ° 4

(R N A (SR R ) A N ) 2o} :

° 60 v 40 ST LD {EL (RF: EECRPRPRS
40:— ------------------- B0 R 1 IR 20F 1 o AR PR
20f-+ ° ks * """"""

C -20 NS SE I ER Rt EEREEREREEE
o . -40 B A
—20F----11 -60F A
T SR S 1Y/ SRR EELE IR B  RAERSRRE: (NI
: |||||||! 1 ' ||! L 9_100? 1 ||||||||- 1 ||||0||! |:.‘|| |||! L
I R = ERTE R B R £ B SO  (SPERPERPE

1 : ] o T|: ]
11 Trr-t1 R S O 1L ]

:'17'—[- F i U ""l afl

2 3 ) - :

TPl[g)T (PCA f})obeamlinéf)

2 3
TPl[g)T (PCA f})obeamlinéf)

<opJp,> (%)
O = N W N O

I
N
I
aF
¥

- . PR AN B RN 0 ) SR ) R
14

: 2 3
TPlFQT (PCA t%obeamlin%)o



	Contents
	Page 1


